					1. Contract	Number	Page of	Pages
AMENDMENT OF SOLIC	NT OF SOLICITATION / MODIFICATION OF CONTRACT			NTRACT	CFOPD-21-C-005		1	5
2. Amendment/Modification Number	3. Effective Date	4. Red	uisi	tion/Purchase f	Request No.		•	
Modification No. 3	See 16 C below				1010	Sales Merchan Retail Enhance		
6. Issued by:	Code	7. A	dmi	nistered by (If o	th erthan line	6)		
Office of the Chief Financial Office of Contracts 1100 4 th Street, S.W. Suite I Washington, D.C. 20024								
8. Name and Address of Contracto	or (No. street, city, county, state and zip	code)		9A. Amendm	ent of Solicita	ation No.		
Veterans Services Corporat	ion	ĺ		9B. Dated (S	ee Item 11)		4.00	
55 M Street, Suite Washington, DC 20003 Attn: Emmanuel Bailey Email: ebailey@veteransservcorp.com			x	10A. Modific	ication of Contract/Order No.			
Tel: 202-649-1000 (Office) 2	·	- 1		10B. Dated (200
Code	Facility 11. THIS ITEM ONLY APPLIES TO	O AMEN	DME	December 24 NTS OF SOLIC	2020 CITATIONS	38.955		
A. This change order is is Section I.8 of the contract B. The above numbered of data etc.) set forth in item 14	THIS ITEM APPLIES ONLY TO MO IT MODIFIES THE CONTRACT/O ssued pursuant to (Specify Authority) and 27 DCMR Section 3601.2(c) contract/order is modified to reflect the	DDIFICA RDER N	FION O. A	Iment, and is reco	ACTS/ORDEF IN ITEM 14 Ich as change	ne opening hour and	d date spe	cified.
C. This supplemental agreement is entered into pursuant to authority of:								
D. Other (Specify type of modification and authority) E. IMPORTANT: Contractor is not is required to sign this document and return1_ copies to the issuing office.								
where feasible.)	Modification (Organized by UCF	Section	nea	iaings, incluai	ng soncitation	on/contract subje	cimatter	
The cor	ntract identified in Block 10A abo	ve is he	reby	y modified as	described o	n pages 2-5.		
	All other terms and con	ditions	shal	II remain unch	nanged			
2								
Except as provided herein, all terms 15A. Name and Title of Signer (Type MANUSELS.)	Saile CEX	6A, Nam	ne of	Contracting O		anged and infull fo	rce and ef	lect.
15B. Name of Contractor		orakus W 6B. Dist		of Columbia		16	6C. Date S	Signed
VSC, distance of person galva	rized to sign) 01/2/202		((Signature of (Contracting Officer)	1/24/2	022
amanisa	3							

The District intends to achieve the following with Modification 3:

- 1. Section B.5. Price Schedule is hereby deleted in its entirety and replaced as follows to affect the following changes:
 - a. Section B.5.2 CLIN 101, Section B.5.3 CLIN 201, Section B.5.4 CLIN 301 and Section B.5.4 CLIN 401 estimated quantities are increased from 125 by 145;
 - b. Section B.5.2 CLIN 102, Section B.5.3 CLIN 202, Section B.5.4 CLIN 302 and Section B.5.4 CLIN 402 estimated quantities are decreased from 2,400 to 800; and
 - c. The not to exceed total for each option years shall remain unchanged at \$740,000.00.

B.5. PRICE SCHEDULE – REQUIREMENTS

B.5.2 OPTION YEAR ONE

Contract Line Item No. (CLIN)	Product Description	Unit	Unit Price	Estimated Quantity	Firm Fixed Price
101	Retail Store Makeover Consulting, Implementation, Maintenance – as described in Section C.3.1 (*excludes the cost of materials)	Each	<u>\$2,800.00</u>	145	\$406,000.00
102	Retail Store Merchandising Delivery, Display, Installation, Removal of Point of Sale and/or Promotional Materials – Upkeep/Refresh – as described in Section C.3.2 (*excludes the cost of materials)	Each	\$35.00	800	<u>\$28,000.00</u>
103	* Materials				Not to Exceed \$306,000.00
Option Yea	Option Year Two Not to Exceed Total				

CLIN Number 103 shall not exceed the stated Not to Exceed Total. The Contractor shall not be paid for any amount that exceeds the Not to Exceed Total.

B.5.3 OPTION YEAR TWO

Contract Line Item No. (CLIN)	Product Description	Unit	Unit Price	Estimated Quantity	Firm Fixed Price
201	Retail Store Makeover Consulting, Implementation, Maintenance — as described in Section C.3.1 (*excludes the cost of materials)	Each	\$2,800.00	145	\$406,000 <u>.00</u>
202	Retail Store Merchandising Delivery, Display, Installation, Removal of Point of Sale and/or Promotional Materials – Upkeep/Refresh – as described in Section C.3.2 (*excludes the cost of materials)	Each	\$35.00	800	<u>\$28,000.00</u>
203	* Materials				Not to Exceed \$306,000.00
Option Year	Option Year Two Not to Exceed Total				

CLIN Number 203 shall not exceed the stated Not to Exceed Total. The Contractor shall not be paid for any amount that exceeds the Not to Exceed Total.

B.5.4 OPTION YEAR THREE

Contract	Product Description	Unit	Unit Price	Estimated	Firm Fixed Price
Line Item				Quantity	
No. (CLIN)	10				
301	Retail Store Makeover Consulting, Implementation, Maintenance – as described in Section C.3.1 (*excludes the cost of materials)	Each	<u>\$2,800.00</u>	145	\$406,000 <u>.00</u>
302	Retail Store Merchandising Delivery, Display, Installation, Removal of Point of Sale and/or Promotional Materials – Upkeep/Refresh – as described in Section C.3.2 (*excludes the cost of materials)	Each	<u>\$35.00</u>	800	<u>\$28,000.00</u>
303	* Materials				Not to Exceed \$306,000.00
Option Year Three Not to Exceed Total					\$740,000.00

CLIN Number 303 shall not exceed the stated Not to Exceed Total. The Contractor shall not be paid for any amount that exceeds the Not to Exceed Total.

B.4.5 OPTION YEAR FOUR

Contract Line Item No. (CLIN)	Product Description	Unit	Unit Price	Estimated Quantity	Firm Fixed Price
401	Retail Store Makeover Consulting, Implementation, Maintenance – as described in Section C.3.1 (*excludes the cost of materials)	Each	<u>\$2,800.00</u>	145	\$406,000.0 <u>0</u>
402	Retail Store Merchandising Delivery, Display, Installation, Removal of Point of Sale and/or Promotional Materials – Upkeep/Refresh – as described in Section C.3.2 (*excludes the cost of materials)	Each	\$35.00	800	<u>\$28,000.00</u>
403	* Materials				Not to Exceed \$306,000.00
Option Year Four Not to Exceed Total					\$740,000.00

CLIN Number 403 shall not exceed the stated Not to Exceed Total. The Contractor shall not be paid for any amount that exceeds the Not to Exceed Total.